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FEWR: WiR 120 mLx1 i, 4°CHRAE;
WA= Wik 15mLx1 i, 4°CHRAE;
WA " Wik 15 mLx1 i, 4°CHRAE;
WA= Bl i, =R RAT

WFIY: Wik 12 mLx1 i, 4°CERAF
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LAMWIAL: EHALFE (2 « X mL)A 1: 5~10 fUELB] CRIHRENZ 0.1g 4143, I ImL
FERD 5 BHTUKIR A . FEWIREL 15min, 5000 rpm 4°CES.0r Smin, HUCHHURARI .

2.003%: WA 50 p L MiEREA, IO 1mL 2B, R%RI 15 min j5, 4°C, 5000 rpm &0 5 min, B
BURRAEI .

3. AR RERAEE (1004 o ZERURER (mL) 2 500~1000: 1 fEHLEI (500 T340
MIN 1 mL ZEBUBD IINEEBUR, UK 75 P i 4 i (Th3e 300w, #75 2 #, MR 3, SEtn
3min) ; FEHIREL 15 min, #XJ5 5000 rpm 4°CE.L> Smin, BUEHUARARN .
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1. EEFRCTHA 30min BAE, WFTHAK R 550 nm.
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3. MsEE: K600 u LFEA, HIA200 v LTARM, #%%)J5/%20min, 4°C, 5000 rpm& 05 min, 732G
1200 0 L EEAHUAH, IIA100 v LML, $£5), 10 minf5 %€ 550 nmAWR Gl 1d AANE
v ZEEE WIN600 » LAEEU, IIA200 w LTAEW, #%/55%20 min, 4°C, 5000 rpmE5.05 min, 3=
JEE200 0 L EEAHUAE, AIA100 w LKA, #%57, 10 min/5lE 550 nmMROLE, 12 NATE.
FEFERFU—R. AA=ANE-AT
HR: 1 BIUER SRR, IMN6FLIUE R RAT I o
20 WU SE A HHIMON FR R AR BIRE A T A 2 e F) A LA A5 DR

FFA S EiHH.:
FrifEfZE: y=0.0161x - 0.0141 R2=0.9985  x: FEHYERARAEMIKIZ (nmol/mL)
y: BOLEZEAA
1. & FFA S EiHH:
FFA %8 ( 1 mol/mL)=(AA+0.0141)+0.0161xV1+(V3 X V1+V2)+1000
=1.242x(AA+0.0141)
2. BIHL. BEY). A FFA S ®RiTH5:
(D AR ARE T
FFA & & (1 mol/g i FE)=(AA+0.0141)+0.0161xV1+ (Wx VI+V2) +1000
=0.062x(AA+0.0141)+W
(2) FREARAREITH
FFA & & ( 1 mo/mg prot)= (AA+0.0141)+0.0161xV1+(V1xCpr)+1000
=0.062x(AA+0.0141)+Cpr

: TOAFEARMRFT, 0.6mL; V2: ﬁﬂlﬂﬁﬁiﬁn ImL; V3: JOIAIMLE CGE) 4AF, 0.05mL; Cpr: FHAK
Euﬁwz)# mg/mL; W: B LU R g; 1000: 1 1mol=1000 nmol .
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2. AR HBRA 20 nmol/mL.



